PN

I=—XINSHTAL A8

3

2400 1060FH (#%E2,4005HM)

HHESBE 7
Mr. Prospector
Kingmambo -
FITAXINXIN Miesque
B 2001 FSANTA =
RYITPRA _—
O—kAroO7 Pilot Bird
2008 Storm Bird
Storm Cat
LF4ISv I Terlingua
B 1996 Cormorant
>( Z YIS ATa—
T =gr= Super Luna
=REE
TAN10C 14 A Nijinsky
201 851 4 ﬂE Caerleon
JYA4FaVa)LR Foreseer
B 1993 Sadler's Wells
No—oA4—>
IZ—XNSHAA Sun Princess
BE 2009 HUF—TALUR
FUIRAI*¥FY —————
I=S—XZAAI FOXAT7O0—3
® 2004 TROARTZIL
I=XTJx—)b B —
JUAI=ZRVA(5)

|l POINT | K1 b

R/ MER N BT E K B TR ZRET 5 7+ —20%, W
BERAST FES S ZHI U, RACEHED R L0 &
FRVET, by THAT—THHREWZ /=2 T, kO HIZ
FARMEA MDDV, B EIZE « ¥ — D3 —2JPER, MRk
LIVUFVINVIZRIETEZD TY, BB H A EDZIEHEA 2
L= T DEFIFE CRER R D 2 T, L —2 Tl < i & F —
Tl JT0E - THAEZDERS, Xy EHRITH L TL 2K %W
A A=V TEET, KOOI RERTY YV ERKIZIEA
U, B2 - 2 EHE Y A MVOREREZEIEL £

B77—I iE#ETI—L BEJETrI—A

1 FAMILY | 8%

FHAFALVVNIEFREE, 31, 47— — -JPN1, 374N, S-0P, &
PR 7 —a v a)yR(JBCAF Y Y h-JPN1), NTF YV ZF T /7 — L4
(Pl 2-G2), [BMS : L)Y s —»FF—/(NHK~ /)L C
G1), A —=ZIAFNV (T AT T4 bl a-JPN2, [TEF+ v EX vy v T
-JPN2), v¥3 /¥ (¥—rF v K C-G3, fEE4E S-G3)
IS—ZINSHLR09 7H A Fava)VR) B2 B, 70—
Z)C (D 1700 m), FERIHR(2) 3/, oy —4i& (D 2100m), =7V
A-JPN2 2 %, SHH AR 2 %, B 2Bt 2 %, iy —r —3
5, ¥ = C-JPN34 7, HRAF, 74— C-G3574, LIINMAL,
FoeL T 4 AN AT, P
TI-ZF v 716 4 HFHE SV v F— ) EREEA, @
I—=ZXOv VAT B Xy v =) K E

IS—=ZXRAI04 7722 %4 2) dLimE ) 11, & TWA
&, VaZT 7Ty T 2%, 2, TRERSL, FATE, BER
FUIFIVARA I B A A a7 240 2) 3R, BRI, 111
227598 (G F T HANAN) 3
IANAF VT X227 HANAN) 1, B
TI—=ZTFAR UL 7 ANAN) JeliE () 15, BEEHE () 8

TI=RTT—)(96 ¥R T4 b= X)) 2k, BEE
F4SOT  NARY T 2uimERE, ALiEE () 31, JbimE 2 s

-JPN3, 1 /> b C 25, BRI, FURAG, & H A 2 iR
-JPN1 235, HH & 2 4, iy —E—4%

EEE JUAT=R VR0 *h=—E V) 41§, WHAT A 22K, =—F )
TA XS, FhkE, e
U=ZR: 51, SRR, 7 R, sEY
| YUYSATEUR: 3B, A, HTEE
T=RUNE—D R 31, RRFER, V&R, PR

JPRDTZRUZ: 21, s
TI=RRT: 28, TR AR—U 2% S-G3 4 %

*JAF)L Grey Quill (81 Forceten) K[EHpE, NHIE, #EEY

E—uo h—2: 38, iEk
NAZRIIVZ—: 1, 70 v h 2 S-0P 35

o
w

N—uH x ONSZ=—0

N
4

[N NN





